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1. UTEUS AT (3FT-RideR) & $wr ye ot agdf ot
P AT WIER ST faar s 82
Which festival is organized on the Chaturthi of
Krishna Paksha of Bhadrapada month (August-
September)?

(@) <a3oHl TRY (b) 9T g Bhaiya Dooj

Devothni Gyaras

(©) WﬂﬁiﬁGanesh (d) ?ﬁtl'la?ﬁDeepawali
Chaturthi

The traditional jewelery ‘Ramjhol’ is related to?
(a) SR hard (b) ﬂﬁ?ﬂ cheeky
(c) Urgd Payal (d) %THTJ:ﬂ Hiranami

3. ®HIs &I fora frg T A fRE 82
In which city is Kanod fort located?

(a) II%?"I@'Mahendragarh (b) ARAIA Narnaul

(c) Bl Hansi (d) YR Thanesar
4. Frafafea & 9 fa & @1 giamon o1 Riger a1
ST 82
Which of the following fort is called Singhdwar of
Haryana?
(@) WeIgg fobet (o) TSig fad Jind Fort

Bahadurgarh Fort
(c) WgH fHa Mehm Fort (d) ®HIS fabell Kanod

Fort

5. P BT YRS T WRIAR 5 e 3 aamn A

Which king built the famous Brahma Sarovar of

Kurukshetra?
(@ XISTP® King Kuru (b) XIS HI King Bharata
() Uied Pandavas (d) 32 Ashoka

6. Frufif@a# A o9 91 HYT Het 22

Which of the following statement is correct?

(@) SNSRI S (b)  Hard YN Ieg & Hard

firar, fear, Rran &= & Siclt STt §
et o &t o St STt Mewati language is
% Bagri dialect is spoken in the Mewat
spoken in the areas of region of the state

Bhiwani, Hisar, Sirsa
district of Haryana

( TOHYPIACEa  (d) IR JH All of the
TS & A UTS STl above
2 The vocabulary of
Brajbhasha is found
similar to that of

Bangru
7. ﬂ?ﬁl@ﬁﬁﬂmﬂiﬁl(ﬁﬂnﬁmﬁﬁ
TS aIfedr
B Wsﬁauﬁ‘? 2. ur\ﬁalam
C. 3iqdr gad U 3. 3aTaT
D. ¥d-Tolid arfeeT 4. MRS

(@]

10.

12.

(a)

(@]

13.

code ABCDABCD

Match the List | (Herbal Park) List | (District)
A. Harad Vatika 1. Gurugram

B. Kadipur Herbal Park 2. Faridabad

C. Amla Herbal Park 3. Ambala

D. Ratanjot Vatika 4. Mahendragarh
code ABCDABCD

1234 M) 2431

3412 4123

Equaﬁ;%amwﬁmﬁﬁm

How many power generating stations have been set
up in the Western Yamuna Canal Hydroelectric
Project?

al two (b) dR four
SIS eight (d) dRE twelve

. gRamon &1 e WA Yad R Fel 8, raer
foafor 1873 . A gam um

Where is the oldest railway station of Haryana,
which was built in 1873 AD?

3{qTeT Ambala (b) XaTSI Rewari
T Sirsa (d) BﬁHansi

ghamn # ygell aR rgufa W fFe furrawr &
GRIREIRIC IR

In which assembly was the President’s rule imposed
for the first time in Haryana?

Tedl First (b) G Second

TR third (d) T fourth

Tifvarie uraTeg &t WaET f59 sifufaw & agd
P A

Under which act the Family Court was established?

URIR ey (o) U T AT,
A, 1980 Family 1976 Village Nyayalaya
Court Act, 1980 Act, 1976

IRAR AT (d) ST H Y PSR
SfAfH, 1985 Family none of the above

Court Act, 1985

gharon damadt e siftfam, 1994 Y URT 164 |
S A1 ATaYT |l 82

Which provision is related to section 164 of
Haryana Panchayati Raj Act, 1994 ?

AASTAT Gl AR BRAT (b)) S OO AT

preparing voters’ list making false

declaration
E‘Hﬁﬁﬁ‘l{m electoral (d) %ﬁﬁaﬁ’sﬁﬂ—anone
division of these

Frafafea & 9 o9 91 $y e & Hay d 9l 37
Which of the following statements are correct
regarding Rohtak?
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(a)

14.

17.

(a)
(@]

18.

(a)
(@]

19.

(a)

Jgdd Bl SIS (b)  YATST SR AsdP &
¥ Y o e e Tt URIG § Rewari
HRT § Rohtak does and Gajjak of Rohtak
not share the border are famous

with any other state
A5% ¥ 1929 HGAS  (d)
# U 96 H gB

SfAf & Nehru was the
chief guest in a

meeting in Rohtak in

the year 1929

Frafafea & & o1 a1 ueht sfamn 1 7w uafht 82
Which of the following bird is the state bird of
Haryana?

SWRIad 4t All of the
above

1If?r*fﬂ'é:?:b;]TIT'IAsian (b) i ST Black Dongo
Cuckoo

YRAT HR Indian (d) i hapIferT Black
Peacock Francolin
BRUTU BT 35T o T 82

What is the state flower of Haryana?
HHA Lotus (b)  Rose Tdld
W’ﬂ'@ﬁ Sunflower (d) T Jasmine

pead ¥ fFa i ®M w® wEE Fwr A e @)
e &1 Suew faar ur?

At which pilgrimage place in Kurukshetra Lord
Krishna preached the Gita to Arjuna?

Abeg i (b) R et Jyotisar

Markandeya Teerth Teerth

a@ﬁ Brahmakund (d) W%R atef Kaleshwar
Teerth

WHAT g & T1¢ 916% A Ut SgRal & fog &1 it
SUTY YROT H1?

Which title did Babur adopt for his generosity after
the Khanwa war?

Jahanpanah SIgTgAT (b)  Badshah STGRIg
Qalandar &gl (d) Wazirejam oo
?_;rgr’@a o} w9 W Raraa ufed sharon ¥ 98

Which of the following princely states was attached
to Western Haryana?

ATHT Nabha (b) SBR Bikaner

SIAYR Jaipur (d) UfedTar Patiala

fFrafafaa ¥ 3 fra & A 3y R gr1 R, 7=,
AF T arelt ) | 3 o 22

In which of the following areas, millet, gram, wheat
and pulses are being cultivated by drip irrigation?
16 BEH Flood plain  (b) ﬁmﬁ?ﬂqGiripad

plain

(@]

20.

21.

(a)
(@]
(e)

22.

(e)

26.

(a)
(@]
(e)

27.

(a)
(@]
(e)

[WHIAM T ASH  (d)

plains containing sand
dunes

gharon § ugTs &= 3 gt wel urs Wl &2

Where is the soil of hilly region found in Haryana?

T g4t all these

ORI PIUETS Won (b)) FRraTere & Tesl
the hill of Morni on the hill of Shivalik
SR P UBTSI Won (d) SWRIad TH Al of the
the hill of Aravalli above

fadduwmer N -aT g T2

TERE & o (b) MH A
CUIERE] d) ST
T Y PIs 6l

TIT & AR $H &A1 g1y o & s
pifad 8-

SHise TR, Wigde  (b) WP Uid 7 el foarg
LRI Y 741 o IR WIS
TN IFS FRUGAT () I 9T oG Y g
REZCh |
T A PIs ol
. R[S do-l BT T9F BIfoTU-
e (b) Y
SR d) 3 &M
ST Y PIS ol
IR F 3uTa F fareniiat & SeiRae ot 31
EEACREl (b) I e
YT (d) I
ST Y PIS ol
. FProfafaT § wr 6 gt v T8 @:
3y (b) STHPIR
=T d) deE
ST Y PIS 8l

Direction: Choose the English translation of the
given word from the following:

GGPED
Bookmark (b) Attachment
Illegal (d) Evidence

None of these

Direction: Choose the Hindi translation of the given
word from the following:

Equity
AL 4 (b) AU
KIEIES d) Remd

None of these
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28.

(a)

(28 - 30 ) Directions: Read the following passage
and answer the given questions:

Religion and science have often been viewed as
having conflicting ideologies, with one relying on
faith and the other on evidence. However, many
argue that these two concepts can coexist and even
complement each other. Religion can provide a
moral framework and a sense of purpose, while
science can explain the natural world and how it
operates. One way in which religion and science can
coexist is through the concept of intellect. Religion
provides a moral framework and a sense of
purpose, while science explains the natural world
and how it operates. One example of this
coexistence is in the study of the origins of the
universe. Many religions have creation myths that
describe how the world came to be, while science
has the Big Bang theory. Both perspectives offer
unique insights and understandings of the origins
of the universe, and neither necessarily contradicts
the other.

In conclusion, religion and science are not mutually
exclusive. They can coexist and even complement
one another, providing a deeper understanding of
the world and our place in it. Both offer unique
perspectives and insights, and neither necessarily
contradicts the other. The key is to approach each
with an open mind and a willingness to consider
different perspectives.

Give an example of how religion and science coexist
in the study of the origins of the universe.

Many religions have (b)
creation myths, while
science has the Big

Bang theory.

The universe is (d)
believed to have been

Scientists have used
telescopes and other
observational
techniques to study
the history of the
universe, while
theologians have used
scriptures.

The big bang theory is
a scientific explanation

created by the god
Brahma.

for the origins of the
universe.

() None of these

29.

(a)

(@]

What is the key to approaching religion and science
according to the passage?
Religion and science (b)
can both provide
valuable insights and
understanding.

The key is to approach
each with an open
mind and a willingness
to consider different
perspectives.

The key is to avoid (d)
conflating the two;

religion and science

are mutually exclusive.

Many religious beliefs
are not in opposition
to scientific facts and
theories.

() None of these

30.

(a)

(e)

31.

(a)

(@]

32.

33.

(a)
(@]

34.

(a)
(@]
(e)

35.

(a)

What is the relationship between religion and
science?

Religion and science (b)  Science is a systematic

have had a simple
relationship

throughout history.
Religion and science (d)
can coexist and even
complement each

other.

None of these

method for
understanding the
natural world.
Science is seen as a
threat to traditional
religious beliefs.

frufafed & @ 9 AEPpNITe fdeis &1 Adi=dq
TIHIT 82

Which among the following is the latest version of

Microsoft Windows?

s Ige ey (b)
365 Microsoft Office
365

dSIS 10 Windows 10 (d)

dSIS1 9.1 Windows
9.1

deisi 8.1 Windows
8.1

STl R % (48] 1 AafYd S & &l adid g

The two ways to arrange multiple windows on the

desktop are:
FHS 3R (b)
CIgd cascade and tile
Uigc TS &l point  (d)

and click

STUS I drag and
drop

[GRIGIEEAUS]

minimize

and maximize

gevHie W IUAN & e sTeRgde 991 & g Suai

PR TR FRETYT R

The coding language used to create documents for

use on the Internet is
HTML (b)
HLTM (d)
None of these

o @ duger wF A te 389 § 999 Bid gfae
B H 32

Which among the following is the smallest unit in
an image in a computer screen?

gMHeT Unit (b) TUIA Pixel
1?\’ Array (d) :Q@IF\‘IQW Resolution

Clip

e =1 A <t a1 31 A/ 3iftre Bies $I STrad dad F1
19 faar SITaT 8 99 3 aR}e €U A Ul @ &t
fAfés $3 & forg g e 37
By what name are two or more fields of a database
table called when they are collectively used to
specify the primary key?
FHHifore (b) URERI B Primary key
Gl Composite key

HSMT
gt Al of these
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(@]

36.

(@ To (b)  From

(c) CC (d)  Bcc

37. 3199 ' FT ff¥rear v Fafafeq 3 3 feas

forg foma <imar 82
The dbase Il plus is mostly used for which of the
following?

(@) Sfiftby (b) SICEY HAeHe
SHSH=HA Office Uisd Database
automation management problems

(© uEffhs (d) 3l
UiscH Scientific WQFI Calculations
problems only

38. %a?mua»—gwrﬁmﬁcﬁ&mmﬁ_wm

|
The capacity to perform multiple tasks
simultaneously is termed as ______

(@) AR Diligence (b) gyifeferct Versatility

© RaafQfrd Reliability  (d) FTH I All of these

39. THIMSUAS T ?

What is MIME?

(@) 309 ® U TH (b) T FARE 3R I R
TEUE T § A & o1 T $eBY An
transport agent for E- interface between the
mail mail client and the

web server

(© TP HURSN (d) Swdad @ Al of the
Tt Hrfesa above
UHR H fafte greut
DI TP PRATT A
compressor that
packages different
formats into SMTP
compatible type

40. DHTML &1 quf 37 &2
DHTML stands for

(@)  Dynamic hyper text (b)  Dynamic hyper text
markup language main language

(c)  Digital hyper text (d) Digital hyper text
main language markup language

41. =Mid U ® 99 Y afq iR uRT Y 9fq B srgura

WIRA B Foreignkey (d) HfSSC B! Candidate

key

379 & fFgfafaa & & ¥ F9 uraeatsit i
guT GUTdT 82

Which of the following fields of an e-mail hides the
identity of the recipients?

8:11 afe 5 42 A 36 frrlt uT F SrgPpa 3R 42 faht
JRT & faudia sea1fed Bt 8; oRT &Y vfyy /m @
Biferg|

If the ratio of speed of boat in still water and speed
of current is 8 : 1. If the boat covers 36 km in

(@]
(e)

42.

(@)

(e)

43.

(a)

(@]
(e)

44.

(a)
(@]

downstream and 42 km in upstream then total time
taken is 5 hrs; Find speed of current?

AfHHt /¥9eT 4 km/hr ()
2 fpdt yder2 km/hr - (d)
sﬂﬁﬁﬁs‘%’r None

of these

3 foet / €eT 3 km/hr
1137_5?[/‘5'61 km/hr

saTfrdia smepfaal 3 Si=-a1 qored T T8 R

Which property of the geometrical figures are not

true?

WGBTS TH  (b)
M9 3R TH Sial gRI
WA B

fidaRe® &Fg1 A

segment of a circle is a
region in the interior

of the circle enclosed

by an arc and a chord

A AFI P HATS  (d)
=g =} 3R U

T YT g §
AP PIS THRT 3ic:
AR Bl Two
adjacent angles have a
common vertex and a

T foh01 H had Th
3ifaw fig @aa
IR fig) ST sl A
ray has only one end
point (its initial point)

Ay 31 fobgl a1
Y13 Y AT B
3R TR YT Bl
daTE 9 3 g 21
The difference
between the lengths of
any two sides of a

common arm but no
common interior

sﬂﬁ@ﬁ%:ﬁfNone

of these

T® 32 Hiex St FURT 9, 3.5 Wex ST IW 5 g
W EST 3| J-91¥ 98 SART 3 SR g1 3, IAaT
P01 30° T T¢PR 60° Bl ST & 1 ST FHRA FI 3R
Rpart ot @@ B

From a 32m high building, Ram of height 3.5m is
standing at some distance. When he moves towards
the building, the angle of elevation increases from
30° to 60°. Calculate how much distance he covered
towards the building?

triangle is greater than
the length of the third
side.

13v3 HleX 13V3 m (b) 17.67V3 HIeX 17.67+3
m

1743 HleR 1743 m (d) 19V3 I 19v3 m

sqﬁﬁaﬂs‘:@ None

of these

wém%anmaﬁﬁmaﬁ?mmzmﬁtﬁ
3R 2464 AW §1 I YHIT S0 3R MUR F =™
. . 1
¥ BT T & St ¥ 3w 1157 @1 yra S
The radius of base and volume of cylinder are 14 cm
1
and 2464 cm3. Find 113% of the difference

between the numerical value of curved surface area
and the diameter of base.

28 (b) 30
36 (d) 54
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(e)

45.

(a)
(@]

46.

47.

(a)

sﬂﬁﬁaﬂ'scﬂ?ﬁ'None

of these

TS Ba-fadhdl B (x + 6) 3THT B 99 W (x - 6)
A & fIsha geu & sRTaR 71 B 31 afe E19 arelt
BT UFI=Td 15% & SRISR g, a1 x T A 4 S |
A fruit-seller incurs loss equal to selling price of (x
- 6) mangoes by selling (x + 6) mangoes. If the loss
percentage incurred is equal to 15%, find the value
of x.

9 (b) 85
7.5 (d) 10
ETFE[ I ﬁ's“ ﬁ None

of these

T dRE x R y ¥/ yATs uife § forad x

SUTSY 3R y Usa 71 @ Frafifaa &3= & & $14-

T Y L &2 a N

1) (y-x)qa?mqplias ghdl g |

2) x y U U Quite g awar gl

3) 0.5 (x + y) U% TH YUl gt 9wl gl

mww T TART P Hal IR BT 997
|

Let x and y be positive integers such that x is prime
and y is composite. Which of the following
statements are correct?

1) (y - x) can be an even integer

2) x y can be an even integer

3) 0.5 (x + y) can be an even integer

Select the correct answer using the code given
below

FPaA13R21and2 (b)) Padd23MR32and3
only only
FPad13iR31and3  (d) 1,23R31,2and3
only

%ﬁﬁaﬂ?ﬁq_ﬁﬁ'None

of these

160 HHATNG! BT TSI F WIS H, TURRA BT 3T
3T 14000 ¥UT 3R JTUBTRAT BT 3T I 46000
FUY g | WS U HHATNAT B S Fa 26000 FUI
BT da- a1 ¢ | afe Toul B e JuRTia) Ft S=m
F N d P TR M ARG $) won A e @
3R YAP YU WS gRT A wHaral &) feg wH
I 3T A9 BT (3/13) TAT BT @, A T3 BT
Pd da-T 9T PifoCI

In an organization with number of employees 160,
the average salary of peons is Rs. 14000 and the
average salary of officers is Rs. 46000. The
organization pays an average salary of Rs. 26000 to
its employees. If the number of men is same as the
average of number of peons and twice the number
of officers and each man earns (3/13) times the
average salary paid by the organization to its
employees, then find the total salary of the men.

66,000 %. Rs. 66,000 (b) 6,60,000 3. Rs.
6,60,000

(@]

(e)

48.

(a)
(@]

49.

(a)
(@)

50.

(a)
(@]
(e)

51.

(a)
(@]

52.

(a)
(@]
(e)

60,000 %. Rs. 60,000 (d) 6,66,000%. Rs.
6,66,000

‘5{71'3[ J ﬁ'sc =|€r None

of these

Toity 25 oY o uep ot qul & wavar @ 9afe siwfa
39 20 &Y # gof &% 9wl 31 9 5 o= & fiw v
Ty BT R ¢ SR bR oty ol Sis a1 sitfer
9 B Bt fa feat & qof vt

Ranjith can complete a task in 25 days while Anjali
can finish it in 20 days. They work together on the
task for 5 days and then Ranjith leaves. In how many
days will Anjali finish the remaining work?

15ﬁ:ﬁﬁ15days (b) 10ﬁ:ﬁﬁ10days
11ﬁ7ﬁﬁ11days (d) 9ﬁ7ﬁﬁ9days
ﬁﬁ@fﬁ'ﬁc:ﬁfNone

of these

4545 BT (2/9) + 512 BT 62.5% = x* - 1§, a9 x BT
A RTE ?
(2/9) of 4545 + 62.5% of 512 = x* - 1, then find the
value of x ?

10 (b) 11

21 d) 14
E:I'ﬁ@fﬁ's:'TSQfNone

of these

T FHiHor, orad ga IHfiavu5x2 -3x-4=0%F
el & YA E, &

An equation, whose roots are the reciprocals of the
roots of the equation 5x* - 3x - 4 = 0, is:

42 -3x+5=0 (b) 4x*+3x-5=0
4x%-3x-5=0 (d) 4x*+3x+5=0
Eﬂ'ﬁ@[ﬁéﬂﬁNone

of these

5/8 T 64% BT 20% BT 4000 BT AT JTd BT
Find the value of 5/8 of 64% of 20% of 4000

220 (b) 320
322 (d) 250
E:I'E[ I aﬂ‘s‘ =rs°r None

of these

TP g # 0 $5 ¢ 3R U 3R TP Siiar &} darg
HU: 25 JAT o 21 I 31 A Fx A St 9@ It
daad gl I PR |

In a circle O is the center and the length of diameter
and one chord is 25 cm and 21 cm respectively. Then
find the perpendicular distance from center to the
chord.

V46 Tt V46 cm (b) V23 IH V23 cm
V21 3t V21 cm d) V34 9" V34 cm
Eqﬁ@ﬁ?fﬂ'sﬁ None

of these
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53.

(a)

55.

(@]

56.

(a)

57.

(a)
(@]
(e)

18 It ok 15 M & Aol a8 JwEgUs &1
AT FId P |

Find the area of the rhombus with diagonals of 18
cm and 15 cm.

90 cm?2 90 THR (b)
135 cm? 135 TR (d)

x,y 3R z T 3d 13 & JUF 3| Al y 3R 2 F1 3ivaa
x ¥ 6 BH §, A xP1 A J1d B |

The average of x ,y and z is equal to 13. If the
average of y and z is 6 less than x, find the value of
X.

14 (b) 15

16 (d 17

fFrafafaa veon o Rig wu o srafRy« far mar
8: 11, x, 22, x + 9, 34, 37, 48 ST B HIFADT 28 B, x
BT A T P

The following observations are arranged in
ascending order 11, x, 22, x + 9, 34, 37, 48. The
median of the data is 28 find the value of x.

22 (b) 19
20 d)y 21

99 cm? 99 TR
183 cm? 183 9HR2

PN PT TS ghel T 3R ST g3 & o for -
fau e sriwel # feamar war 31 fou U I & SriPpS!
|, 3fra =% 5 @ar 9 R a5 F9 fewr &

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened.

E[EN o NEE
NEA NHIE/
/HE o BE
mﬁaﬂé:ﬁfNone

of these

afg A+ BHTST A BHTUAZ, A/BFT A A, B Y
T g SR A*BHT S A, BT YA 8| Fufafaada
B gxitar 8 i m, N &Y i 37

If A + B means A is the husband of B, A/B means A
is the sister of B and A* B means A is the son of B.
Which of the following shows M is the daughter of
N?

M/P*N (b)  M*N/O

M + O*N (d) P*M + O/N
éqﬁ@f?ﬁ'scﬁ None

of these

Mob. - 7737404085, 8209244090
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(@]
(e)

60.

61.
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fFrufafea § 3§ fF9 Suaur &1 IugT U9 & gRI
=i nfafaf & @r W) 989 98 U1 Hie dg
31E Bt fifie H & forg fovan wiran 82

Which of the following devices is used to print very
large drawings or complex line art by mechanical
movement of a pen on paper?

@ oic fifex Ink jet (b) B Scanner
Printer

Fﬂ%?fﬁ?? Line Printer  (d) wiex Plotter
ﬁ'ﬁ@faﬁéﬁ None

of these

& y@e 4 7% ¢, el e ue gw g1 Ry m
el 4 @ 39 98 fawe &1 9= i, oY g
EaRry k2o f

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

XC, QE, LI, 10, ?

JQ (b) HW
GX (d) KV
37113[ q ﬁ'sc 7-@ None

of these

7y ¥ fRu Uz @ grefafa Fifvm iR
gAdaryd et A fied -gad o 9 fdwer &1
Ig Biforg|

Rearrange the word in question and find the option
most similar in meaning to rearranged word.
USRPUE

SUPPORT (b) SEEK
RETREAT (d) Quit
E:I'E[ I aﬂ‘s‘ =rs°r None

of these

Az R fow o vy & o FYF R I 91C T
frep fou e &1 emue! fou T Hy=T & g "
2, ¥ & 3 I U A 31 a2 @ e udia 819 @
3R fbr 7 FIRA fF Ry e Frepuf & @ Fi9 a1
frepd I U F 919 9l $ ST Hd g
faT T Hy=Y BT AIfh® U F TRV HAT B
DY:

Tl IR Srmer §1

P U9 3RGER 81 2|

PO IR TP 8

e

1. PIE U ToR ST 2

Il. $ TP IGER &

DIRECTIONS: In the question below are given few
statements followed by few conclusions. You have
to take the given statements to be true even if they
seem to be at variance with the commonly known
facts and then decide which of the given
conclusions logically follows from the given
statements, disregarding commonly known facts.
Statements:

All papers are newspapers.
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(e)

62.

(a)

(@]
(e)

63.

(a)

(@]
(e)

64.

No pen is newspapers.

Some papers are books.
Conclusions:

I. No pen is paper

Il. Some books are newspapers

HId DY | WU (b)  HAd Y || IR
&1 8 Only &1 B Only
conclusion | follows conclusion 1l follows
s iR 1 (d) Ad e iR
ST 3RO R P 11 3RO Bl

% Neither Conclusion |
nor conclusion Il
follows

% Both conclusion |
and conclusion I
follows

sﬂ'ﬁfﬁaﬂéﬂ?ﬁ'None

of these

& ¥ IW npfadl A |, IW IW NPIA BT 9UA
HIfor s wy aepfa fdl/AfRa 21

From the given answer figures, select the one in
which the question figure is hidden/embedded.

v
l =

== @ [HZ
Eﬂﬁ@ﬁ'ﬁcﬂﬁNone

of these

TS BN & ¢hs Bl WY ATHIA | ST T AR
HIST 3R Pl ST g1 W4 & 916 98 fFd =R
3Tpfa & JaH fars 3m

A piece of paper is folded and cut as shown in the
question figures. From the given answer figures,
indigate how it will appear when opened?

N Eal

X -

d » (d) v
ﬁﬁﬁaﬁ'ﬁcqﬁNone

of these

T dieq § U= 09 & R, T 3ud & fRyad iR
3 v1A F Ryaw! &1 g 455 30 81 9t geaaet o
o] Ft ¥=n uHE 31 TR # =Y 11 & gl
BT e (U H) fFam a2

—~ o~ o~
™ O Q
—_ — =

65.

(a)

(@]

(e)

A box containing the denominations of twenty five
paise coins, one rupee coins and two rupee coins
amount to Rs.455. There are equal number of coins
in all denominations. What is the value of twenty
five paise coins in the box? (In Rs.)

45 (b) 35
25 (d)y 15
3?1?{ I ﬁ'ﬁt 7-@ None

of these

= T T 9y ¥ TF HYA R WP I T
foranfaftr € 7 &1 smue) By | &) 7 SR BY
T AT § SR HYA § & 7§ THa & UR W
g a9 H31 ¢ for Jams 18 - hafafr sy &1
e T F SR Bl B

HY: T ¥ fAHTT & T 7 o) 51t € H, amud
fora # te RIA & U T ¥ Ued) | IR & gRE
e & 9 IR 18 @ iR T # AR S <R, Rrad
URUIARGEY 20 HAfHAl o1 did & 1§ 3R 50 &
3 9Tad 8 T 31T AT T Hd 872

In the question below is given a statement followed
by some courses of action. You have to assume
everything in the statement to be true and on the
basis of the information given in the statement,
decide which of the suggested course of action
logically follow(s) for pursuing.

Statement: You are Head of Railway Department
and recently, a train was derailed near a station in
your district while moving over a bridge and fell
into a river, resulting in the death of 20 peoples and
more than 50 injured. What you do next?

T WWBR Bl (b) ufass & R gdeai
el &1 HRU Wy g9 & fow gat &k
B Clarify the YA CF B

reason for the accident ESEGEERIRIRIEH

to the respective
Government.

A FTRERS  (d)
U 3t HIR HE

I PIS MTUH! G 7

¢ o | Try hiding the

News of the accident

so that no one can

blame you.

E:Iff@aﬁ—scﬂ_éTNone

of these

HT%EI The bridge and
the railway track
should be made
strong enough to
avoid such accidents in
the future.

3 foret & Yerd fasm
& THE & Ug I WD
Ul Resign from the
post of Head of the
Railway Department of
your district.

66. 39 fdmey & gFT S FRRY SU&R-TYE | I UBR
Al 3 oM TR g 31&R-UYg Ugd Si&R-T9g

¥ g 21

Select the option that is related to the third letter-
cluster in the same way as the second letter-cluster
is related to the first letter-cluster.

Mob. - 7737404085, 8209244090
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CE: IY:: AB:?

(@ GT (b) VW

(c Ul (dy AD

(e T ISP !

67. faweul A A, 39 v9 &1 94 B =) &} Tt =fe wt
IS H A8} 9911 oIt Gl 8|

From the options, select the cube that cannot be
formed by folding the given sheet.

(d a&b

(€) 399 Y Pl T8I None

of these

68. TRIX-YHTAFRIH X Y Fam@are, X x ydr3rf @
fex yorfuarg, x - yaraf g x, y#l s 8,
ot fFafafea & @ $-ar siwe qrifar g fF Q, p &1
LER
If X-Y means that X is the mother of Y, X x Y means
that X is the father of Y, X =+ Y means that X is the
sister of Y, then which of the following expression
shows that Q is the son of P?

@ P-Q=R (b) P-QxR

(@@ Q-PxR (d RxQ-P

(e) Eﬂﬁ@ﬁé:ﬁ?fNone
of these

69. Y 3R SHTATY FY IdA 3T 3 : z%aacrmﬁ%
5 ¥ 91¢ Y 3R S B 3y &7 U 1
ﬁmlﬂﬁmﬁa@ﬁmuaﬁ%?ﬁsaﬁﬂ?
91 SITATY B 3Tg &1 g1 (@ )2

Present ages of Ashwini and Jagannath are in the
ratio of 3 : 2. After 5 years, the ratio of ages of
Ashwini and Ishan will be 1 : 2. If the present age of
Ishan is 47 years, then after 5 years what will be the
age (in years) of Jagannath?

@ 19 (b) 16
(¢ 10 (d)y 20
(e ZTH Y BIS T8l None

of these

70. T fAfda ge utar g,
“rat lit mit zit pit” @1 "df kl rn gt ui" foraT a1 ,
“sit kit lit hit bit” &Y “er no sd pq df” Rrar wrar 8,
"wit nit jit zit kit” Lal “pq jn ui dc xz” T s 21
I YT ¥ e & fore e wm &2

In a certain code language,

rat lit mit zit pit” is written as "df kl rn gt ui",
“sit kit lit hit bit” is written as “er no sd pq df”,
“wit nit jit zit kit” is written as “pq jn ui dc xz".
What is the code for “kit” in that language?

(@) dc (b) no
() sd d) pq
() TTH I Pl ! None

of these

71. 1857 B i< & fogR & Aa1 4—

The leader of revolt of 1857 in Bihar was-
(@) Wil dEHGSwE  (b) Ay
Maulvi Ahmadullah Tatya Tope
() RS @ PR

Nana Sahib Kunwar Singh

72. FrafafEd Aast § € 919 0o wWeit & gad®

Who among the following leaders was the
supporter of Swadeshi?

(@) SRf<ra (b) forRIoTmTE Agar
Aurobindo Ghosh Firozshah Mehta

(C)  TIGTHTS ARISH (d) FUY T I
Dadabhai Naoroji Subhas Chandra Bose

73. 3 A YT UgHAT AUTRS Pg Pl wITud foparn
Where did the British set up their first trading
center in India?

(@) hcihpdl (b) IWd

Calcutta Surat

© =% d) FHACH

Bombay Karnataka

74. 9 AR # ve Iwrsfedtiy qEr f5T A | S
STaT 82
By what name is a tropical storm in the China Sea
known?

(a) elHel Tornado (b) dgX Wave

() <Ie%H Typhoon (d)  dehdld hurricane

75. GOt e @t Ruid & wafta A
Punchhi Commission report was related to ___

(a) ISTHNY FUTE fiscal (b) E‘Fﬂiﬁ JUR electoral
federalism reform

(c) HE-IT &Y Centre- (d) T I &1 Aoy
State Relations creation of new state

76. AXHEH USR | A €11 arehl &Y W Afeai s+
Wt 8, Afr 3 3rar- arar fezmait & Tt 82
What are the two major rivers that originate from
the Amarkantak Plateau but flow in different

directions?
(@) d9d 3R Iqar (b) T& 3R T Chambal
Chambal and Betwa and Son

Mob. - 7737404085, 8209244090
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(@]

77.

78.

(@]

79.

80.

(a)
(@]

81.

(a)

(@]

82.

(a)
(@]

83.

THeT IR I (d)

Narmada and Son

THaT TR S

Narmada and Betwa

fFrafafaa 3 @ 59 Qe @1 SExa s THal «°t
Tt smare yer #3132
Which of the following scheme aims at providing
affordable housing to the urban poor?
W= HRA M (b)  TUTTH S Y FrerT
Clean India Movement Pradhan Mantri Jan
Dhan Yojana

37cd UM o Atal

Pension Yojana

T STaN AT (d)
Pradhan Mantri Awas
Yojana

fay & qrell o1 Had IST SATGH 3R IJUHIRT 2
P AR

Which country is the largest producer and
consumer of pulses in the world?

HRd India (b) =M China

e I ST (d) TSI Brazil

United States of

America

UYH ATAER fA5iE & FHY YR BT a8 S 9T
?

Who was the Viceroy of India during the first
Malabar Rebellion?

qrs FA1ed Lord Clive  (b)  @TS MifaT Lord
Reading

dls I=HIS Lord (d) Qﬁ@ﬁéﬁNone
Chelmsford of these
TEHRT URd B 9ad St udd 91 &2
Which is the highest mountain peak of peninsular
India?

SISWET Dodabetta (b)  3FTE Gt Anai Mudi
‘:I%?mﬁ Mahendragiri ~ (d) EiSIRR Eucalyptus

P g T SUANT 3 916 =T 9¢d &

It is the main component used in making glass.

qfSTH IRC Sodium ~ (b) TifsaA Raferdpe
borate sodium silicate
ffereT Silica (d) hicrram Rifrpe

calcium silicate
gﬁwwﬁuﬁﬁwﬁ%mmﬁﬁmﬁﬁv
|

The gas used for artificial ripening of fruits is

E'Q:T ethane (b) HIYT methane
Y DRG] ethylene (d U e 35‘1 - acetylene

TS i T Foaa= gt uR 72 f5um. @ | I &
gagwemqﬁwe | T5HT WX fdd BT Sad0™=

(a)

(@]

87.

(a)

(@]

88.

(@]

89.

(a)

(@]

90.

(a)
(@]

91.

The mass of a person on earth is 72 kg. Is . The value
of G on the surface of the moon is 1/6. The mass of
the person on the moon will be:

12 fHu1 12 kg (b) 120 fHAT 120 kg
72 f&a1. 72 kg (d) 432 fHU1432 kg
wyy Hor @) fasRya foear

The first vaccine was developed?

Te9 UTR GRI By Louis (b) USdS OFR GRI by
Pasteur Edward Jenner
PTA ASEIR gRIby  (d)  SIhd HREX GRT by

Karl Landsteiner

IufRud T W4l SHad gl

There is a connective tissue present.

PSR hard (b) R liquid

HIA gentle (d) 3G R semi liquid

Sitat grRT iR & e ok e dwgfs & e dgar
BT aTATaRUl S B UfshaT &1 T Fgd 82
What is the process of creating a better adapted
environment for living and for more procreation by
organisms called?

Joseph Moster

U‘@ﬁlﬁﬁﬂ'&ﬁ natural  (b) URdGdT change
selection

PEESBIE] d) M - ¥ AT Non-
recombination random mating
Horal, I R FhSI F AR |

Consists of crustaceans, prawns and crabs.

YR = normal eye  (b)  TJad =1 compound
eyes
HY 77 middle eye (d) Qﬁeﬁ zero eye

fFrafafaa 3§ 9 $199 ofta 949 & g1 Ides & U
# o o 82

Which of the following organisms are known as
chief producers in the oceans?

SR Dinoflagellates (b) STICH Diatoms
ug?ﬁ'rﬁs?; Euglenoids (d) RIS EET Cy
TR W o P Y H1 o1 399 fafr g

The best way to purify water at home is

oo guf &fifdm (b) U (STAHR) GRI By
UI3SR) gRT By boiling

bleaching powder

FARNIPRUIGRIBy  (d)  SfA&UU §RI By

chlorination precipitation

urgelf FHaRUT_ F BRUIEETRI

Corrosion in metals is caused by .

arg Air (b) T Moisture
3HTRIIBTT Oxidation (d) ST Water
famr ama 3-

Finance commiission is -

Mob. - 7737404085, 8209244090
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(a)

93.

(a)

(@]

94.

(a)

T JuTRe Re™ gl s (b)

a statutory body

JISTT 3RT BT R
o & forg S T
YTl Was made to
replace Planning

commission
FHRIBIROR (d) TP Faue
BT Executive body @™ Constitutional
body
ETFE[ I ﬁ's“ :@3[ None
of these

T figas_ dwEudf SEr e gl

Price theory is also known as

GICEIRCY (b) e IR Micro
SR Public Economics

Economics

TR YR Macro  (d)  fapr

Economics I Development

Economics

3_'-|'~Ef I Eb;]'sc :F&p[ None

of these
gfdt iR w1 31 Ry fpem g 2

Who gave the theory of Supply and Demand?

Siefl 7T JB Shaw (b) 3BPS AR Alfred

Marshall

SH BT IM Keynes  (d) 3\ Amartya Sen
3_'-|'~Ef I Eb;]'sc :F&p[ None

of these
TS aTH & Rigid & IER,
According to the principle of comparative
advantage,

IWMHISTaAN S (b)) S Pl ST IS &b
IdTeH o foRISRydm IdTGH H faRISRTd
BIRS Al 18T BRI A1 MR,
fSTepT ST 3 TR & fore fore 3% 3
B 8| Countries RS TSR] Hi
should specialize in Wﬁwaﬁﬂ
the production of AR AN et

goods that they enjoy &1 Countries should

consuming. specialize in the
production of goods
for which they have a
lower opportunity cost
of production than
their trading partners.
IWMHFATGMF  (d) WD TRASD
IdTeH T faRISRIdm I § ga-Tidd
BRI P21 =R, 1Y AT =il 1 faRme
ISRCANNERILR DI STEA 5l
RS HRfGRT BT 81 Countries with a
Wﬁmﬁﬂ comparative
T BT ITINT HRd advantage in the

%I Countries should
specialize in the
production of goods

production of every
good need not
specialize.

96.

(a)

98.

(a)
(@]
(e)

929.

(a)
(@]
(e)

for which they use
fewer resources in
production than their
trading partners.

3?1?{ I ﬁ'ﬁt 7-@ None

of these
AT @ U A E T AT
Haryana was originally a/an state
?ﬁf Agrarian (b) MNP Industrial
g1 Mining (d) Qfé Educational
3?1?{ I ﬁ'ﬁt 7-@ None

of these

Frafafea & 9 o9 91, 3162 o {5t & &7 & Han
g 3R YR Wyl & uifRufast @ ik sud
fafae siaf &1 ISPy e 82

Which of the following, spread over an area of 3162
km? and is a classic example of the Thar Desert's
ecosystem and its diverse fauna?

WRAGR PT HIeIed (b) SIEEER BT AW
AB1G I Keoladeo AT I Jaisalmer
National Park of Desert National Park
Bharatpur

HaTs [TENGR &1 (d) 3fefeR BTGRP TR
ORIHR TP Red sariska Tiger

3 Ranthambore
National Park of Sawai
Madhopur

m@ﬁ’s‘ﬁNone

of these

Reserve of Alwar

Aq fAffa 3mueT &1 v Igeu | 87

An example of man-made disaster is:

%‘anrthquake (b) ﬁ?l"-:ﬂTsunami
RIRIEET (d) HH fS&d Land-slides
3{TYal Chemical

disaster

Eﬁ@ﬁgﬁNone

of these

HRA A STary ufad= W TP ST T (NAPCC)
P9 IE B2

When did India launch National Action Plan on
Climate Change (NAPCC)?

2008 (b) 2007
2002 (d) 2000
371'3[ I ﬁ'sc TEET None

of these

9 iftrer ifafraw g ad uriva foear war ur

In which year the Forest Rights Act was passed ?

2006 (b) 1970
1975 (d)y 1965
s:lff @ Eﬁ’l’sf 'TSFT None

of these

Mob. - 7737404085, 8209244090
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100. WRA & Fuffea & 3 fra &7 o "9 fafaear gie-
HWic" & ¥q | ST 7T 82
Which one of the following regions of India is
known as “biodiversity hot-spot” ?
(a) qﬁfm‘c’ Eastern Ghats (b) YR HS¥d Thar desert
(¢) Gdhd BPIUSR Deccan (d) gfgt g1 Western
plateau Ghats

(€) T Y DR T8l None

of these
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